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Candidates must write the Code on the
title page of the answer-book.
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e Please check that this question paper contains 15 printed pages.

e Code number given on the right hand side of the question paper should be
written on the title page of the answer-book by the candidate.

e Please check that this question paper contains 26 questions.

e Please write down the Serial Number of the question before
attempting it.

e 15 minute time has been allotted to read this question paper. The question
paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the

students will read the question paper only and will not write any answer on
the answer-book during this period.

WA e (fgr=e)

CHEMISTRY (Theory)
e @ - 3 g2 S7fEIBaH 37% : 70
Time allowed : 3 hours Maximum Marks : 70
56/3/G 1 P.T.O.
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T 7597 :

G) Gt IeT S

(i) T TEIT1 5 a% 3d TG-ITT Jo7 8 3R IS J97 & om0 1 37% & |

(iii) 37 G&IT6 & 10 TH TG-ITIT J97 & 3R J % 97 & [c77 2 37% & |

(iv) 397 &7 11 G 22 7% ¥ Tg-3707 397 & 3K Je9% 597 & o770 3 37% 8 |

(v) 397 G&IT 23 JoATIIRG F97 & 37% 3q% g 4 37% & |

(vi) T GEIT 24 T 26 TF FH-ITIT J97 & K IS J97 & 070 5 37% & |

(vii) e STTFTFIHAT &, @ AT 2T FT JIT F | FepAaR] & ITIT H A
TEE

General Instructions :

(1) All questions are compulsory.

(it)  Questions number 1 to 5 are very short answer questions and carry

1 mark each.

(iii)) Questions number 6 to 10 are short answer questions and carry 2 marks

each.

(iv) Questions number 11 to 22 are also short answer questions and carry

3 marks each.
(v) Question number 23 is a value based question and carry 4 marks.

(vi)  Questions number 24 to 26 are long answer questions and carry 5 marks

each.

(vii) Use log tables, if necessary. Use of calculators is not allowed.

1.  fdu e Aifies 1 oms.g d.u . am fafaw . 1
OH
CH,
CH,
56/3/G 2
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Write the IUPAC name of the given compound :

OH
CH,

CH,

2. foTeh HshHUl d<d o &9 H o1 gl STl & ? 1

Why is zinc not regarded as a transition element ?

3. 1WA Ag* &l Ag T ARG HH H HUS A fohdan 1aw (IT) 3TewEeh gl

8? 1
How much charge in Faraday is required for the reduction of 1 mol of Ag*
to Ag?
4. T=fafea gm & Sy1 Afufsean S sifere dear @ 1
CHj

I
CgH;— CH, - Br 3R CgH; - CH - Br

Which would undergo Sy1 reaction faster in the following pair :

CHjs
|
CgHs - CH,; - Br and CgHy- CH - Br

5. gU 1 giaifua srewen ot uftgmu mem fafen | 1

Write the dispersed phase and dispersion medium of smoke.

56/3/G 3 P.T.O.
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6.

56/3/G

Th AR h NEEM AR AR 1 wife % = q @l
fafeu | 2

Write two differences between order of a reaction and molecularity of a
reaction.

fafafga <hi s fafgu . 2
(1) N,O5

(i) BrF4

Write the structures of the following :

(1) N,Og

(ii) BrF4

Hircad [Co(en)yClyl* 1 8. W .u.dt. 9 fafau | 39 Hircrew g foha

YhR bl TGS fe@ers St 8 2 2
STraT

IR AuH. ggfd % gar ffafad IuwgeasH Afenl % e 3@
W: 2

X o

(1) FAEICIENIEEIS((1))

(i)  refrm derETgaTEEthe (D)
Write down the IUPAC name of the complex [Co(en),Cly]*. What type of
isomerism is shown by this complex ?

OR

Using IUPAC norms write the formulae for the following coordination
compounds :

1) Tetracarbonylnickel(0)
(i1)  Potassium tetracyanidoferrate(Il)

4
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9. fguTer & 379904 ¥ 319 =1 992d & 2 201 & 379qme 3 faoa & AR
TSI & o9 St qEeY BT 3, 3§ SYodd i | 2

What do you understand by depression of freezing point ? Derive the
relationship between depression of freezing point and molar mass of the
solute.

10. f=fafgd = safesa Fifso 2

() I AT &A1 % qGd gL HA |
Ce¢Hs - NH,, CH; - CHy - NH,, CHy - NH - CHj4
(i) I H I%h! YeRicdl o 9¢d §¢ %A |
CH; - NH,, (CH3)3N, CHg - NH - CH4
Arrange the following :
(1) In increasing order of their basic strength
CgHs - NH,,, CH; - CH, - NH,, CHy- NH - CH4

(i1) In increasing order of solubility in water
CH3 - NH,, (CH3)3N, CHg - NH - CHy4

11. ffafad sgaehi & Thash! 6l FEAT 3R 396 W fafe 3
(i) s
(i) AN 6,6
(Gii)  <fef
AYAT
LT o YR T TGAh| b RN 3l UM HIT | 3
Write the names and structures of the monomers of the following
polymers :
1) Polystyrene
(i)  Nylone 6,6
(iii) Terylene
OR
Describe the classification of polymers on the basis of structure.
56/3/G 5 P.T.O.
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12.

13.

14.

56/3/G

(i) & D-eehie HCN & fhaT ohial & a9 ITed 3cdTg i faifaT |
(i) W 6 o-gfcted TTamT i g TR &1 Ty feorar JeM ST § 2
(i) i By, & &t & 1 S B R, swent T fafaw | 3

) Write the product obtained when D-glucose reacts with HCN.
(ii1)  What type of bonding stabilizes the a-helix structure of proteins ?

(iii)) Write the name of the disease caused by the deficiency of vitamin

Byo.
fr=fafiga gei = gfenfya Sifse 3
i) I

(i) GaEEl HIcse

(i) IO FraTzS

Define the following terms :
1) Sorption

(i1)  Lyophilic colloids

(111)  Associated colloids

G)  Torerifem & uftsseor & fow o fafar =@ & @8 St 8 S 18 &+
forgra <t samT |

(i)  STRA % TSRS | CO AT fireht T 8 2
(iii) ‘PR AS T3 ? 3

1) Indicate the principle behind the method used for the refining of
Zirconium.

(i1) What is the role of CO in the extraction of iron ?

(iii)) What is ‘copper matte’ ?

6
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15.

16.

17.

56/3/G

frfafad o fog R Farsy 3

(i)  PHy I 379& NH, %1 F99Hh IR ¢ |

(i) H,S I 3708 H,Te 3Tfaeh 37l 7 |

(il) T T T FANE A hT A9 T T 2 |

Give reasons for the following :

(1) NHg has a higher boiling point than PHg.

(ii))  HyTe is more acidic than H,S.

(iii) Chlorine water on standing loses its yellow colour.

freferfiea = fow rer e 3

(i) Vel hige — shraem rffshan & et 7 |

(i) p-ARfET smamdd p-aEgefela & s A ® |

(iii) 37T 3R YU Al % 1 | g UM H — NH, a0 1 UHifeefismo
[ERUSICIEN

Give reasons for the following :

(1) Aniline does not undergo Friedel — Crafts reaction.

(ii)  p-methylaniline is more basic than p-nitroaniline.

(iii)  Acetylation of — NH, group is done in aniline before preparing its
ortho and para compounds.

ffaiaa sirccieal o SRR 3T 3Rl Hehtur 37aeT ffgu -

(a) () [FeFgl3-
(i) [Ni(CO)4l
(TTHTY] HHT : Fe = 26, Ni = 28)

(b) CN 3R CO # ¥, HH-HT fIivg 91q o MY 3 TARM Hircrad
T B SR AT ? 3

7 P.T.O.
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(a)  Write the hybridization and shape of the following complexes :
(i)  [FeFgl3-
(i) [Ni(CO),l
(Atomic number : Fe = 26, Ni = 28)

(b)  Out of CN and CO, which ligand forms more stable complex with
metal and why ?

18. fr=fefaa srfufsransti § e & g 3cure 1 T=H fafaw 3
. (1) ByHg
(i) CH,-CH =CH, — >
(ii) H,0,/ OH

ii) CH;-CH,-CH-CH;+KOH (aq) —»
|
Br

Br

LR
(iii) @ + Mg ﬂ»

Write the structures of the major product in each of the following
reactions :
(1) BoHg

i) CHy-CH-=CH, —
(i) H,0,/ OH

ii) CH;-CH,-CH-CH;+KOH (aq) —»
|
Br

Br
i) @ + Mg dry ether

56/3/G 8
Downloaded From: http://www.cbseportal.com



Downloaded From: http://www.cbseportal.com

19. f=faRaad ugi =1 gitwrfsa i : 3
(i)  Treecla 3
(i)  hdl G
(iii) n-IEI JFGATAR
Define the following terms :
1) Crystalline solids
(ii)  Frenkel defect

(i1i) n-type semiconductor

20. U YW hife hl Affshan § 25% fomes & fow 10 fire og & | arfiifshan <6
£, 1 TR HIFTT |
(feam = 2 : log 2 = 0-3010, log 3 = 0-4771, log 4 = 0-6021) 3

A first order reaction takes 10 minutes for 25% decomposition. Calculate
t1/9 for the reaction.

(Given : log 2 = 0-3010, log 3 =0-4771, log 4 = 0-6021)

21, 20°C W JA 1 919 €@ 17-5 mm Hg 8 | 9 T (AR GoI0H =
180 g mol 1) &1 15 g, 20°C W A o 150 g T AT AT 8 Al A T a1
Td iehlerd hifarg | 3

Vapour pressure of water at 20°C is 17-5 mm Hg. Calculate the vapour
pressure of water at 20°C when 15 g of glucose (molar mass =

180 g mol 1) is dissolved in 150 g of water.

22, Tmafefgd st o9 8 ST 3
()  HHIA Hl 2-FEGIRCEHRIGHNA |
(i)  TfUA FeARISS i Bfadt T |
(iii) UEHIIH @l 2-ATAANU-2-37TA H
How do you convert the following :
1) Phenol to 2-hydroxyacetophenone
(i1))  Ethyl chloride to methoxy ethane

(iii)  Acetone to 2-methylpropan-2-ol

56/3/G 9 P.T.O.
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23. U URMg ha & fURaua off 79 9 gz R ofadg (IgE) SE MR fowy w
T & fou ws SR 61 3RS foran w81 o= o qrar-fuan den =
fifue w1 omba e | g Fol R mn fo6 @9 g WM wRal |
glaafea fpy ST SR waeeaddes Wisd g 99 {U, e, g9, 3G Rl
I hEH § IuTey HAT A€ | I=q g W Fol TR o wgat § A9
UTd:hTcA UHFSEl o AT =] bl I+ &9 § YT HS Al TR 90
HAT AT | B: WG o 999, ot T 7 AfUshat whai # R Fleor s ok
S o T § 37gqd YR I T |
39T TR I UG & wTe, FefarRad yeat o 3 i 4
(i) oft 79 g R qodi (FH-9-H 1) ol ST TR & 2
(i) ek foenefl & &9, 19 37 YAl o Ui hY TITEHAT HeATdl ?

(i)  IMfaeRrl (I=M=ieh) T Bid 3 ? Teh 30 ST |
(iv) UEGSH o1 3TN 38 HISH 3T 9F yerel deh & Hifyd <= Tan Sar g 2

Mr. Roy, the principal of one reputed school organized a seminar in which
he invited parents and principals to discuss the serious issue of diabetes
and depression in students. They all resolved this issue by strictly
banning junk food in schools and introducing healthy snacks and drinks
like soup, lassi, milk, etc. in school canteens. They also decided to make
compulsory half an hour of daily physical activities for the students in the
morning assembly. After six months, Mr. Roy conducted the health
survey in most of the schools and discovered a tremendous improvement
in the health of the students.

After reading the above passage, answer the following questions :

) What are the values (at least two) displayed by Mr. Roy ?

(ii)  As a student, how can you spread awareness about this issue ?
(iii) What are tranquilizers ? Give an example.

(iv)  Why is the use of aspartame limited to cold foods and drinks ?

56/3/G 10
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24, F=fafagd g« % o fogg-ams @ (e.m.f) 3 AG T 298 K W UfeheH
T - 5

Mg (s) | Mg2* (0-01 M) || Ag* (0-0001 M) | Ag (s)

fem g . E° ) - -237V, E° - +0-80 V.
(Mg“t/Mg) (Ag"/Ag)

AT

(a) CH3COOH % 0-001 mol L1 foerRM sl =reishdl 4:95 x 1075 S cm™?
2 | 35h! AR =Taehdl 3T foaisH-9mE (o) Iienferd Shifsa |

0
e % . A (H*) = 349-6 S em? mol ! R

0
L (CH3COO™) =409 S cm? mol1.

(b) S TS FAT ] ? A YR Al shl o1 | 38h1 T oy foafam | 5

Calculate e.m.f. and <G for the following cell at 298 K :

Mg (s) | Mg2* (0-01 M) || Ag* (0-0001 M) | Ag (s)

Given: E = -237V, E° = +0-80 V.
(Mg“"/Mg) (Ag'/Ag)

OR

(a) The conductivity of 0-001 mol L1 solution of CH35COOH is

4-95 x 10-5 S cm™!. Calculate its molar conductivity and degree of
dissociation (o).

0
Given : L (H¥) = 349-6 S cm2 mol~! and
0
A (CH3COO™) =409 S ecm?2 mol1.

(b)  What is a fuel cell ? Write its one advantage over other ordinary

cells.

56/3/G 11 P.T.O.
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25. (a) T=IREd S HRO ¢d §TC TE HINT :
(i) Eu2* U Y9d IS 2 |
(i) FRHY GTge TiA Afieh s 8 |
(iii) 3d vft § Zn & WA (Hufierior) TEdt a8 & B |
(b) TrefctRga wefisheett =1 i i

A
i KMnO, —

(i) Cr03 + 14 H*+6Fe2+ — 5

AT

[ N e

(a) TaafaRga s <o afza g -
()  HshHU dd aUeneit Afies s=d B |
(i) Mn3*(3d%) Uh YSd IUEREE @ W€k Cr2+ (3d4) T TadA
AT B |

(iil) HHATT TGS AT I BId & |
(b)  ‘TrsT arg’ o B ? SERT Th I9AN feAfau | 5

(a)  Account for the following :

(i) Eu?tis a strong reducing agent.
(i1) Transition metals form coloured compounds.

(iii) Zn has lowest enthalpy of atomization in 3d series.
(b)  Complete the following equations :
. A
(1) KMnO, ——
(i) Cr0> +14H*+6Fe2r —
OR

56/3/G 12
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(a)  Account for the following :

(i) Transition elements form interstitial compounds.

(i) Mn3*(3d%) is strongly oxidizing whereas Cr2+(3d%) is
strongly reducing.

(iii) Transition metals have high melting points.

(b) What is ‘misch metal’ ? Write its one use.

26. (a) Tfateaa stfufseameti & A, B, C 3t D < =AW fafaw -

PCl, H,/Pd-BaSO, CH;MgBr
CH;COOH ——» A » B > C
H,0*
LiAlH,
v
D

(b) Fr=fafed & = 7@ Hif
(i) CH3-CO-CH,CH; 3R CH;- CH, - CH, - CHO
(i) TAA HR TIAIEH 3T
(¢)  4-FARIYCH-2-3TH & T feafau | 5

AT

(a) @ U4 (CHy - CH, ~ CHO) fr=fetfiad stfiepmeni & sifilshan shean
7l I T 3cd1g) sl aEAT foifan

(i) Zn - Hg/@= HCI
(i) H,N - OH/H*
(iii) HCN

56/3/G 13 P.T.O.
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(b)

(c)

(a)

(b)

(c)

(a)

56/3/G

TEhEEl oo AR % U FefaRed 6l dedt 8
Affspamsiictar & A # s¥afedq I

HCHO, CH, - CO - CH,, CH3 - CHO

frafafiga Mfieet & 0 & 3@ wE & 0w w6 I TaEiHE S
g

CgH;CHO 3R CgH, - CO - CHy 5

Write the structures of A, B C, and D in the following reactions :

PCl, H,/Pd-BaSO, CH;MgBr
CH;COOH ——» A » B > C
H,0*
LiAlH,
v
D

Distinguish between the following :

(ii)) Ethanal and ethanoic acid
Write the structure of 4-chloropentan-2-one.

OR

Write the structures of the main products when propanal
(CHg - CH, — CHO) reacts with the following reagents :

(i) Zn - Hg/conc. HCI
(i) H,N- OH/H*
(iii) HCN

14
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(b)  Arrange the following in the decreasing order of their reactivity

towards nucleophilic addition reaction :

HCHO, CH,- CO - CHj, CH3 - CHO

(c) Give a simple chemical test to distinguish between the following

pairs of compounds :

56/3/G 15
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